ANTRENAMENT DESCOMPUNERT 2

3)(5x —3)2 - Bx+1)(5x — 3) =

4)5x(2x —7) — 2x + 7 =

52x—-1)4x+7)+ (1 —2x)(3x —2)

6)3x(x — 2)(4x — 9) — 8(2 — x)(9 — 4x) =

7)(5x — 2)2 — (2 — 5x)3 = 8)(2x — 3)3 — (3 — 2x)? =

9)(8x —3)2 —8x +3 = 10)(2x = 7)2+2(7=2x) +1 =

\"

1)x3 —x24+9x—9 = 2)ab — ac — b? + bc =

3)X3 +2X?—-9x—18 = 4)a®? —b%?—a+b =

Vi

Dx?—3x—4= 2)x*+7x+ 10 =
3)x? —11x + 24 = 4)x? + 2x — 15 =
5)2x%2 —11x + 12 = 6) —x%+5x—4=
7)3x%2 —7x—6 = 8)10x2 — 29x + 10 =
92x%—x—6=

Vii

1)(x%2 +4x) (x> +4x—3)+ 2 = D2 —x)(x*—x+1)—6=
3)(x% 4+ 3x)[2x(x +3)—1] -3 = (x? —6x)(x>—6x+2)—63=

5(x+2)(x+3)(x+4)(x+5)+1=

Descompuneri Page 1





